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1. 'X1, · · · , Xn
×àãE(λ)5µX®ß��^øÍ��JnX(1)�X1b8!Ý5

µ�

2. 'X1, X2, X3
}ñÝ�^�ó, vXibN (i, i2)5µ, i = 1, 2, 3��¿àX1, X2,

X3ÝÐó, 5½C�bAìÝ5µ�
(i) χ2

3,

(ii) T2,

(iii) F1,2�

3. 'X1, · · · , Xn
×àã U(0, θ)5µX®ß��^øÍ, θ > 0��JX(1)/X(n)�
X(n)}ñ, ¬5½��X(1)/X(n)CX(n)�p.d.f.�

4. 'X1, · · · , Xn
×à�^øÍ, n ≥ 2��JÙ��

(i) (Xn, S
2
n)�(

∑n
i=1 Xi,

∑n
i=1 X2

i )��;

(ii) (X(1), X(n))�(X(n) −X(1), (X(n) + X(1))/2)���

5. 'X1, · · · , Xn
×àãp.d.f.f(x|θ)X®ß��^øÍ, Í�

f(x|θ) =

{
1
σ
e−(x−µ)/σ , x ≥ µ,

0 ,Í�,

θ = (µ, σ), µ ∈ R, σ > 0�

(i) uµ, σ/Îá, �Oθ�×t��5Ù��;

(ii) uσ�á, �Oµ�×t��5Ù��;

(iii) uµ�á, �Oσ�×t��5Ù���

6. 'X1, · · · , Xn, n ≥ 2, 
×àãp.d.f.f(x|θ) = (x/θ)e−x2/(2θ), x > 0, θ > 0, X®ß

��^øÍ�

(i) �JT (X) =
∑n

i=1 X2
i
θ�×t��5Ù��;

(ii) �JXn =
∑n

i=1 Xi/n¬&θ�×�5Ù���

7. 'X1, · · · , Xn
}ñÝ�^�ó, vXkb®�5µ, ¢ó
(α/k) · (n/(n + β))k,

1 ≤ k ≤ n��O(α, β)�×t��5Ù���


